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void swap(int a, int b)
{

int tmp = a;

a = b;

b = tmp;



void swap(int *a,
{
int tmp = *a;
*a = *b;
*b = tmp;

int *b)
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typedef struct
{

string name;
string dorm;

}

student;
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http://cs.calvin.edu/books/c++/ds/ |l e/



typedef struct node
!

1nt n;
struct node *next;

}

nhode;
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bool search(int n, node *1list)

{

hode *ptr = list;
while (ptr != NULL)

{
if (ptr->n == n)
1
return true;
}
ptr = ptr->next;
}

return false;






push

pPop



typedet struct

{
int numbers|[CAPACITY];

1nt size;

}

stack;



typedef struct
1

int *numbers;
1nt size;

}

stack;






enqueue

dequeue



typedef struct

{
int front;
int numbers|[CAPACITY];
1nt size;

}

queue;



typedef struct

{
int front;
int *numbers;
1nt size;

}

queue;



Jack Learns the Facts About
Queues and Stacks
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http://en.wikipedia.org/wiki/Birthday_paradox
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plnary search tree



http://en.wikipedia.org/wiki/Birthday_paradox

typedef struct node
!

int n;
struct node *left;
struct node *right;

¥

hode;



bool search(int n, node *tree)

{
if (tree == NULL)

{

return false;
else if (n < tree->n)
{

return search(n, tree->left);

else if (n > tree->n)

{
return search(n, tree->right);
}
else
{
return true;
}
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http://en.wikipedia.org/wiki/Birthday_paradox

“ECEABEADCAEDEEEECEADEEEEEDBAAEABDBBAAEAAAC
DDCCEABEEDCBEEDEAEEEEEAEEDBCEBEEADEAEEDAEBC
DEDEAEEDCEEAEEE”



“ECEABEADCAEDEEEECEADEEEEEDBAAEABDBBAAEAAAC
DDCCEABEEDCBEEDEAEEEEEAEEDBCEBEEADEAEEDAEBC
DEDEAEEDCEEAEEE”

character | A| B | C | D | E
frequency | 0.2]0.1|0.1]|0.15]0.45
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http://en.wikipedia.org/wiki/Birthday_paradox



http://en.wikipedia.org/wiki/Birthday_paradox



http://en.wikipedia.org/wiki/Birthday_paradox



http://en.wikipedia.org/wiki/Birthday_paradox

Als 01

B is 0000

C is 0001

D 1s 001

Eis 1



typedef struct node
{

char symbol;
float frequency;

struct node *left;
struct node *right;

}

hode;






table (0]

table (1)

table([2]

table[3])

table([4)

table[5]

table[6]

table[n-1]
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http://en.wikipedia.org/wiki/Birthday_paradox

typedeft struct node
!

bool word;
struct node *children[27];

}

hode;
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